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Section 1 - Paperl-English Language

1) Select the correct option.
Generally speaking,
stronger than men.

Techofworld.In

women are mentally

A)

B)

C) no article
D) an

a

Read the passage and answer the questions that follow:

Origin myths —History of Tealn one popular Chinese
legend, Shennong, the legendary Emperor of China and
inventor of agriculture and Chinese medicine was drinking
a bowl of just boiled water due to a decree that his
subjects must boil water before drinking it. Some time
around 2737 BC, a few leaves were blown, from a nearby
tree, into his water, changing the color and taste. The
emperor took a sip of the brew and was pleasantly
surprised by its flavor and restorative properties. A variant
of the legend tells that the emperor tested the medical
properties of various herbs on himself, some of them
poisonous, and found tea to work as an antidote.
Shennong is also mentioned in Lu Yu's famous early work
on the subject, The Classic of Tea. A similar Chinese
legend goes that the god of agriculture would chew the
leaves, stems, and roots of various plants to discover
medicinal herbs. If he consumed a poisonous plant, he
would chew tea leaves to counteract the poison.A rather
gruesome legend dates back to the Tang Dynasty. In the
legend, Bodhidharma, the founder of Chan Buddhism,
accidentally fell asleep after meditating in front of a wall
for nine years. He woke up in such disgust at his
weakness that he cut off his own eyelids. They fell to the
ground and took root, growing into tea bushes.
Sometimes, another version of the story is told with
Gautama Buddha in place of Bodhidharma.Scholars
however believe that tea drinking likely originated in the
southwest of China, and that the Chinese words for tea
themselves may have been originally derived from the
Austro-Asiatic languages of the people who originally
inhabited that area.Whether or not these legends have
any basis in fact, tea has played a significant role in Asian
culture for centuries as a staple beverage, a curative, and
a status symbol. It is not surprising, therefore, that
theories of its origin are often religious or royal in nature.

2) Tea is NOT considered to be a/an

A) status symbol
B) antidote

C) curative

D) appetizer

3) According to Chinese Legend, the emperor

A
B
C
D

drank the boiling water containing tea leaves
chewed the leaves, stems and roots of the tea plant
drank the tea leaf juice

consumed the antidote tealeaf capsules

—

4) According to Tang dynasty legend, the tea bush grew
from Bodhidharma'’s

A) nails
B) eyebrows
C) eyelashes
D) eyelid

5) Tea drinking is likely to have originated from

A) Southwest China

B) Tang Dynasty

C) Chan Buddhism

D) Austro Asiatic Region

Techofworld . in

6) Tea has played a significant role as a beverage, status
symbol and curative for centuries in the

A) Austro Asiatic culture

B) Chinese culture

C) Southwestern Chinese culture
D) Asian culture
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7) What is the plural form of Wolf?

A) Wolfs
B) Wolves
C) Wolvies
D) Wolf's

Techofworld.In

8) Select the correct form of verb from the given options.

Sorry, she can't come to the phone. She a
bath!

A) is taking

B) takes

C) took

D) had been taking

9) Find the most appropriate opposite meaning word:
SHRINK

A) Develop
B) Condense
C) Contract

D) Dwindle TeCh OfWO rld , | N

10) Find the most appropriate opposite meaning word:
QUIESCENT

A) Weak

B) Dormant

C) Active

D) Unconcerned



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

i T e eyrey

Section 2 - Paperl-Education and General Awareness

11) Which of the following statements is CORRECT with
reference to National Council of Educational Research
and Training (NCERT)?

A) It is a private organisation, established in 1961
B) It is an autonomous organization, established in 1980
C) Itis a private organisation, established in 1980
D) It is an autonomous organization, established in 1961

Techofworld-in

11) FPAIQ 6246 FUIAFIA AR AT IFERAR AAT 2Ie 637
aIa 90@ 2I68?

A) Q6Qia A8, 1961 6a aeqIde
B) qora1de a°ql, 1980 6 2egide
C) weaia a°ql, 1980 62 2RI
D) 9@°aide @°ql, 1961 6@ 29aide

12) The National Policy on Education, 1986 and
Programme of Action, 1992 emphasized the adoption of
regional languages as the medium of instruction at which
of the following stages of education?

A) Upper primary
B) University

C) High school
D) Primary

12) @ YAQIR 9T 2Q NgeRae, 1986 B 6gIgiA &t 2iIgs,
1992 Aqrug 699 ITYE IR FEREINRIYERS I QISR
2ERe QNVIGYEF Jad aRenl?

A) @@ glede
B) gfeds
C) a9 SR
D) gladie

13) The fluid part of blood made of water, salts, and
protein is known as

A) hormone
B) myosin
C) plasma
D) platelet

13) @9 GaR 2° Q12 99, ALE 6 69I5R6a F2R GIAIY Q4
QaIaN?

A) 25019
B) cusaude
C) qigen

D) eqoeme

14) Which of the following options is CORRECT with
respect to the qualifications prescribed to become the
Vice President of India?

A) He/she must be the Chairman of the Rajya Sabha

B) He/she must be qualified for election as a member of
the Council of States

C) He/she must be qualified for election as a member of
the Legislative Council

D) He/she must be the Speaker of the Lok Sabha

14) Q1099 A0 AYAT 624! AR YAIFS QI CATISI ARFER
a9 Aeagen g 6996 0a?

A) 64 QIRIARIR 2UD 621RYER

B) 62 cigiQein 20y @16e HRIEE 6291 QIR 6AIGY QIR
C) 6Q GIGER9E AR 6271 IR 6LIGH 6219269

D) 64 6RIRQRIA 22F 6271 IR 6QISY 6TREER

TAAkAI‘.IAIﬂIA IIA
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15) The National Commission on Teachers—| (1983-85)
suggested that the term 'Practice Teaching' should be

replaced with the term

pmemsnp | @CHOTWOrld.In

B) Apprenticeship
C) School Training
D) Practice Training

15) MYIALIN 9799 2o §od -1 (1983-85)6a JUIRE @0 26R
64 "gIRd TGOS 00T FFNUQ 6RQ U8 A2 IR 6291 ARG

A) Q4939

B) asaqdea aeedq
C) am 60Gar

D) 91QQ 6506
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Section 3 - Paperl-Reasoning

16) Komal and Vimal invested Rs. 2000 and Rs. 3600
respectively in a business. If the annual profit is Rs.
84000, then what is Vimal's share in profit?

A) Rs. 40000

B) Rs. 36000 TeChOfWO rld P I n

C) Rs. 54000
D) Rs. 48000

16) 99 ULALER 6RIFM Y9° Gam gragaea 2000 9e°
3600 o= G696 @dgen | 9@ AF! QIR 84000 ¢ 99,
SI626M NINEQ TANQ 2GR 6R6E ?

A) Rs. 40000
B) Rs. 36000
C) Rs. 54000
D) Rs. 48000

17) Instruction:

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4. if the question can't be answered at all.
What is the present age of Alex?

Statement | : Alex s the youngest son of Brian.
Statement Il : Alex's only sister Dolly is three years
younger to him.

A) 3
B) 1
C)4
D) 2

17) Fendiaq: FOAYe ggea
1 526 R0g U0 Qe 2y | AITIYIER 99 9aa
QULIRAQE |

2 926 @9g, 99 6297 7189 || AL6AIFEA IR RAQ TR
ARG |

3, 9% GeR | ¥9° || AR6LITER J49 Q88 TR IS |

4, A8 940 Qe 6969 @ GRIIR A I |

QXS 2ERFD A 6R6E ?
1294 | : 6P 620F 6597 A9Q AL U2 |

A2 |l : 2I6RFA 6913 QA1 SR 4G G101 3 T AR |

A) 3
B) 1
C) 4
D) 2

18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:
Some fights are acts.
All the dances are acts.

Conclusions:
I) Some acts are dances.
II) Some acts are fights.

A) Both I and Il follows

B) None of the conclusions follow
C) Only Il follows

D) Only | follows

BT PRSI <R N R
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18) F6a4IGR1 067 TR F19Y 0ag &8 Fd FRARE
| 21067 TR ARG AN QIR AIGI] 989 986 §
2l ARISEIER K2R FAOIR §R 62SITINAN | 2B Fady
0eg Y&° 9106a G9E fag, TuKIngQl §ad AU 6REGE!
QARIREER FEIRIAI 2R ALAIRA 2Q2SI FIaig OR QIER
2gA08 @98 |

wee | @chofworld.In

@8 QIedq 6aR8 ZRea
Qg Q94 Joe 2RRe |

aad:
) @F 28R 9o gol |

II) @8 giea 9o Aeds |

A) 9@ | 9° |l 2GA08 99g

B) eqlad @ fadq 2gaed eag @IF

)
)
C) eaan Il 29908 @93
D) 6aa® 1 29924 @og

19) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

Some relays are fuses.

All the breakers are fuses.

All the isolators are relays.

Conclusions:

1) No isolator is fuse.

I) All the relays are isolators.
1) All the fuses are breakers.

A
B
Cc
D

Both conclusions | and Il follow
Only conclusion | follows

None of the conclusions follow
Only conclusion |l follows

—_— — e

19) Fea4IeRT: 96 QLIRS 799y 08q @R Fad FRIARE
| 206G Q2NN ARG A Q1M QIR A6 QT8 @ gl
ARINEER F4IZK BAI0IR §R 6RHIARAN | ANS Fady 9eg
95 QIgea H9R Gag, YuIKIRgQl fad FrIQ 6960 ARIGLER
61121 TR ARARG @RS F24g OF NS AGARE 298 |
A3QY:

@& Qs 62eE qua |
49 69@Q go 6208 T |

dQ 2IRACRTE gEw 62a8 a6m |

aad:
) 66163 ZIREAICASR TF FLE |
1) A9 G6m Yee 6298 2RSSR |

) 9g TR FoR 68288 6504 |

A) o0 58d |1 9Q° Il 2908 90g |
B) 6ren Gad | 29a0d @eg |

C) exled fad 2998 29 |
D) éaaq fad Il 292048 oG |

20) In a certain code language AUGUST is written as
ISCRUS. How is PLANET written in that code language?

A) CNRVGP

s omer  Techofworld.In

C) ALPTEN
D) CJRRGL

20) 4@ G449 EEER WEISa AUGUST § ISCRUS 6aiR
ERHIAN | 6QF ACFER QINIER PLANET @ @0 6adide?

A) CNRVGP
B) CJRVCP
C) ALPTEN
D) CJRRGL
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Section 4 - Paperl-Teaching Aptitude
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21) According to Pratham’s Annual Status of Education
2013 report, Which of the following is a great concern
about class-appropriate learning?

A) Nationally 29 percent of children drop out before
completing five years of primary school

B) Close to 78 percent of children in Standard Ill and
about 50 percent of children in Standard V cannot yet
read Standard Il texts.

C) Only 53 percent of schools have functional girls’
toilets and 74 percent have access to drinking water.

D) There is a teacher shortage of 689,000 teachers in
primary schools

21) gQe9e 9Il 9ge d9a A8e §5 90eM G6aIF gL,
6961-2098 JTIG 650 FIAYE NUQ 69R5 9@ SR RI0E ?

A) FIP198R6R 29 gode dnl giadie S8Ia AIreed 9ed
@891 94Q 9I0 81983

B) na 6541162 Q1 QIFIAIY 78 9GS B 891 6416R S
AIMIAIY 50 gode G194 68418 D0 A& AIPRITIE |

C) 6ae@ 53 9390 SaUIRaea QIRal 6dlind B 74 gB9e
AIFER ARG FFQ QG| QLT |

D) giefi@ @euing geese 689,000 d8e 2RIQ 288

22) Which of the following teaching models can he termed
as 'Formal Authority'?

A) The one where the teacher emphasizes student-
centered learning and there is much more
responsibility placed on the students

B) The one where the teacher operates under personal
model style with an emphasis on demonstration and
modelling

C) The one where the teacher tends to place much
control and responsibility for learning on individuals or
groups of students

D) The one where the teacher is in a position of power
and leadership possessing more knowledge than
students

22) GOAGe FQ 606 99 PR q 'Ba0Re grISRE' GEI
QIRNEQ?

A) 6A0I6a 60R0IER TR BIF 6RLE JYQl QTR R
£RRAIE @ 6Q0I6Q 818 AIFE AU60 TR GIda a@alN|

B) 6Q0i6a 699060 8@ 9999 8 F6ERT AT6Q 6RIQ 63T
AFG LTS F1697 63R1 2I20IE QIF @GN

C) 6Q0I6@ 6QR0I60 d8@ RAIET @F 81 AT AL
QU6R J4eI Q19 9ge G938 8 Q0] 69RAIRI

D) 620K6Q 60€06R FEQ B8 (G SRAIEA 2R RIF
QgQIa 913 8 69¢Q @ I3 60 ARSI

23) Skinner conducted his experiments on the following
animals

A) Pigeons and rats

B) Rats only

C) Parrots and pigeons
D) Pigeons only

23) 390 OIF UQITIGER FOALYC 69 U A6 FEER ?

A) iRl 6 sl
B) eaee qal
C) gaie aal
D) e@e® Qial

Techofworld In

24) Which of the following activities is NOT a part of
ending the class?

A) Summarizing the class by reflecting on the learning
and the improvements needed

B) Ensuring all materials used are put at the proper place
and the classroom is clean

C) Discussing the behaviour expected from the students
under various conditions

D) Reminding students what they need to do to prepare
for the next day
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24) FRQ 621 FARRIA 6541 658 RERIR IR 28 G6L?

A) 16 2Ied4R oS IR RLER JETHS @6 694110 AIQI°E
@3l

B) an1g Qing1 6ag@ne A0 AIR6Q @1 8 6g419e AT &<
REe Kae|

C) 38a adddeq NN 0If 28l FAULREI MLLIR
QUER ZIBROR! R

D) caeal @a SaUIEIRIEe @8 990 @06 61 §806a 6AAIRg
F168 T6RRS!

Techofworld-in

25) Which of the following statements is TRUE with
reference to the aims of education under totalitarian
system?

A) Education ensures that the aims of human life always
change with changing time

B) Education enables the individual to control his
environment and fulfil his possibilities

C) Education becomes stereotyped and education takes
the form of indoctrination

D) Education leads to self-expression or self-gratification

25) SARYS I 679 B YRV LY 2895 ATl @
QEREY Q AREEQ A (TRUE) 26672

A) Q1 421 REe @RI 64 FIQ 19R Q REQEY AFEIER
QPR AAL ATG QRFaN

B) Jal Quaqg fea aMead q FOR0 @54l 6 SI9Ie ARINRIq
o8 259! iR ABE IR

C) dal g1 62iaKIneM @ Al Y6Iaad Qa 6ameld
D) dai 219 - 2@e48 @F)l 2K1-A88 Zieq EomE

26) Which of the following ensures that no teacher is
scheduled for too many back-to-back classes or for two
classes at the same time?

A) Syllabus

B) School diary
C) Curriculum
D) Time table

26) GAekiQ 6996 12 R0 @6a 6d 6193 FART ATIGIA
6841 69815 Gl U9 ALER RE 65461 66QI5 UG AIF |

A) daieq
B) Qouag @rdal
C) alouga

D) aqa Gde

27) In order to improve the quality of school education in
India, NPSSE is intiated by the Govermment of India.
What does NPSSE stand for?

A) National Programme on School Standards and
Evaluation

B) National Provision for School Standards and
Evaluation

C) National Programme on School Standards and
Examination

D) National Programme on Secondary Schools and
Evaluation

27) Q966 Y dFIe AR 9F G96e ee AeRIeE IRl
9ed9gadm ( NPSSE ) alae @oudieémll aedagdda
(NPSSE ) @@6n @'¢l 9EIa?

A) GYQFIR 601GIF 2] YR FLIEQA g ARUPLIAR

B) sYIQ9IR 69189 T YN VGO g QEUIPINAR

C) quReIn 691917 2] Yn VLIEQA 218 IRKIERA]

D) QIR 691916 2] 69699101 ZNA 1S ARIPIIAR]

28) The Central Institute of Educational Technology is an
institution under which of the following organisations?

A) ISCE
gﬁgTTechoﬂNoHdJn
D) AICTE
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28) 694in ARSI 2T 656RENIE FeRIe A°F0R FUQ A
ZRINGER YR IR 2AQAIG?

A) 2ia9da (ISCE)
B) 983 (UGC)

C) wqdaRies (NCERT)
D) wziadSa (AICTE)

29) The question answer method of discussion and
teaching was propounded by

A) Spencer
B) Freud

C) Aristotle
D) Socrates

29) 94-0@0 2IERIe 8 RN 980 &4 QLR @f2em ?

A) 699a9)
B) gwe

C) 2156aieR
D) aeg5q

30) In Force field analysis, when the proposed change is
to incorporate student-centered leaming, which of the
following is the restraining force, if the favouring force is,

'‘When the students enjoy learning, they are less likely to
misbehave'?

A) Teaching - learning process should be away from fun
to obtain success

B) Teachers have the right to command the classroom

C) Teachers will lose face if they are not the purveyors
of knowledge

D) Learning is not meant for enjoyment and recreation

Techofworld.In

30) 9@ 695 §648€160, GQYI2i-6RER SNI6a 6T69696R 6QlEId
geRe 06eang Mg SN, 9% AAde Fg8Ql d@ 6208
'6D6E6R6R @ayidiicr FYQIa I8 FUB, 64A6e /7 Sl
MTI0 FAE’, 6065 AR FRAR Ha FIRIQ 6QAG?

A) aTeel aRel OIR SAQIR-FAI ged gFel Adael oI
U6 QEQ! AR

B) 6gaqasa Gead 69910 2@IQ Saaa 28

C) 22 S8eAI6a RIFQ 6AIFIGRIAN @ ST 6062 67T QIR
eede

D) daia 218 aCeald @ §a F6R19R Q6%



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Section 5 - Paperll-Odia Language

31) FYRSS FRIQ 66T BT 990 FUNIS I8 ? 36) ‘AT AY 67 60R A9D T4 ?

A) Geaugl A) ga=l
swan 1E€CHOfwWoOrld.In 5

C) zsausl C) aman
D) Gealgn D) ggelt

32) 6906 ' 6 A°YP I AR 99 | 37) 'aiFel- 606 6541 Q §R 265?

A) eqeg A) cadag
B) saGe B) ¢qaa
C) s@qa C)eq ae
D) ea%e D) sGeadia

33) FqRAYe FrIR 699 6AIP! QAN 9 GEF ? 38) JqIG 6alRea RIFR |- 6aIFE 0eF 674 FeE 6aI6sl A0S

62IRE ?
A) 6ae0l-a01Q
B) clen-sqi€1e1 A) geta
C) deg-6aea1 B) gac
D) AR08 C) @Q&il
D) Go1el
34) GRS FRIQ 6R6T ‘AR AFIFIER 0 GEL?
39) AW 9ag QAP @9 |
A) 6R1G7
B) saic! A) @8
C) q@ B) qui@
D) &g C)ea
D) gall
35) @919 @ — 0I6R 699 GEB6 02 QUELIR 620G ?
40) ‘09 87 quIe paca ad @'d ?
A) a1
B) agen A) Qa1 6egRl
C) ogeh B) saie 619!
D) asen C) oemie 6

nxee | echofworld.In

Join Us-' > f
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41) 699 G684 GE] 6% QI A8 FAY , CIRIg & Fes
QIR ?

Techofworld.In
A) qaa1a

B) e qpe
C) asaigey
D) 20 Qiea

42) 'aid 891991- QRS 2d @'¢ ?

A) 991 /Qe

B) ava@ aeeql
C) qisuI@sl

D) 2161 @ ag<|

43) 25 QuIrel 0 JQINIER 60R 6ERI | A8 QAR 6LG
QEHEIQ F6ETE A 526 @9 |

A) 6o
B) &G

C) gl
D) qaiRal

44) GIAYE OUIQ 69UE ‘TEARIIR’ FN6 FAQIS R ?

A) QQARR
B) dage
C) aiQiee
D) 213

45)' 83 86" - QS 906 6QQ gRIQ G 99 ?

A) aniQidle TeCh OfWO rld . I n

B) ajoune
C) aigie 6 fada
D) §g@
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Section 6 - Paperll-Mathematics

46) A square garden with a side length of 150 m has a C) 20%
square swimming pool in the very center with a side length

D) 10%
of 25 m. The area of the land excluding the pool in the ) °
garden is

A) 22500 m? TeCh OfWO rl d o I N 48) A9 69154 QI2 Rs. 490 62 @4lIGMI 99° Rs. 465.50 994

B) 21750 m? RGN, 6069 FGQ ARG 6268

C) 21875 m?
D) 22550 m? A) 5%
B) 15%
C) 20%
46) 150890 6@6lY S8R 9@ QFIRIR G590 OR FURIGIER @ D) 10%

QIRIQ YeF° gm QEF QITIQ 6915 AI4a 6TeN 25 fica | gme
QIQ 6QR AIGQ IR 6TRE

49) The product of (x + 5)(x— 3) equal to
A) 22500 @4l Fiea

A) x*+6x-9
B) 21750 a4l fica B) x?+2x-15
C) 21875 a4 fiea C) x*+8x-15
< ~ D) x%+2x-9
D) 22550 <4l §iea )
_ , _ 49) (x + 5)(x — 3) @ YEITR 62QF
47) Jack paid Rs 3,50,000 for his new car. This was 7/8th
of the suggested selling price of the car. What was the
original selling price of the car? A) x+6x-9
B) x-+2x-15
A) Rs. 4,50,000 e
B) Rs. 3,00,000 ) x:+8x-15
C) Rs. 4,00,000 D) x-+2x-9

D) Rs. 3,50,000

50) Three boys A, B and C start at the same time in the

47) 941@ 918 Q2 |1 dia’ & 3,50,000 650 @& | 921 6208 same direction to run around a circular stadium, starting

. 4 . from the same point. A completes a round in 126 seconds,

FI8R gake GENRIR /5G4 | R SIaTe 99 (R sace? B in 154 seconds and C in 99 seconds. After what time
will they again meet at the starting point?

A) . 4,50,000

B) &. 3,00.000 A) 23 mfnutes and 6 seconds
B) 26 minutes and 6 seconds

C) ¢.4,00000 C) 46 minutes

D) ¢. 350,000

D) 42 minutes and 36 seconds
48) If a product is purchased for Rs. 490 and sold for Rs. TeCh OfWO rI d . I n
465.50, then the loss percent is

A) 5%
B) 15%
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50) a8 Q@ A, B 9e° C a0k IAL6R, AR GO6a 9e° C) 58.33 62
e ARQ 9@ 6IRIFIR FITA| DIFAIHER 6T1ES1 2193 A6 |
A 126 69694964 , B 154 696464 96° C 99 696046@ 63I5q
6091 A K98 | 6@60 AFIL AER 6T JFRAER AIRR YS!

FIFER 6B 626Q7 Te C h OfWO rl d I n 53) A 20 litres of milk contains 20% of water. Extra water

is added to it to make it to 50% milk. The quantity of milk

D) 55.33 safi?

s o :
A) 23 G5q 99" 6 6269E has to be added further to bring it back to 20% of water is
B) 26 §i5q 99 6 664 A) 60 litres
C) 46 §igg B) 48 litres

o~ C) 50 litres
D) 42 §i5g 99° 36 696ad D) 20 litres

51) Radius of the incircle of an equilateral triangle with = = = - -
side 156v3 cm is 53) 66159 20 REQ QIEQ 20% A8 28199 AadE 50% QoS!

QIR 2@ A8 g8 SRR 96 AT G 20%G Q&

A) 70 cm sarQIR 2SS QIR Fi4I 91g 291 QUa RIS 6998
B) 68 cm
C)82cm A) 60 Gea
S B) 48 @¢a
C) 50 Aea
51) 156v3 6971 QI gal 9@ AR 9% @ 98 Q M D) 20 @cq
2les
A) 70 6ad 54) The highest common factor of 72 and 168 is
5 ﬁ
) 68 64 A) 4
C) 82 6@ B) 24
D) 78 @i C) 12
D)6

52) The length of the hour hand is 7 cm. What is the area

of the sector traced by the hour hand after it has moved 54) 72 49° 168Q Q641D ARIAE GEF1OR 6208
through 4 hours?

2 5133 cof a4 Techofworld.In

B) 48.33 cm? B) 24
C) 58.33 cm? C)12
D) 55.33 cm? D)g

52) A4l 921 9 a5 7 696 2661 N2l 4 94 @RAINS J6Q U
Q4 TR 659 621X 6FYR EHYTR 6@6S 26T?

A) 51.33 6a?
B) 48.33 6ai?
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55) Salaries of Ramesh and Sharan are in the ratio 3 : 5.
If the salary of each is increased by Rs. 5100, the new

ratio becomes 30 : 49. What is the new salary (in Rs.) of
Ramesh?

A) 4,08,000
B) 2,04,000
C) 1,02,000
D) 56000

55) Q6718 4L° 0w Qa9 29YIe 3 1 5 | 99 QU 9l

Rs. 5100 §& Q14 696 999 219016 30 : 49 62IRAIN | QA
96 Qafll ( Rs.69) 6968 ?

A) 4,08,000
B) 2,04,000
C) 1,02,000
D) 56000

56) If A={1,2,3,6,8,10}, then the cardinality of the set A is

A) 8
B) 6
C) 10
D) 3

56) 9@ A= {1,2,3,6,8,10}, 6664 699 A Q RIBAIRG 6208

A)8
B) 6
C) 10
D)3

57) Profit earned by selling a product for Rs. 1060 is 20%
more than the loss incurred by selling the product for Rs.
950. The price at which the article is to be sold to earn
20% profit is

A) Rs. 1260
B) Rs. 1860
C) Rs. 1500
D) Rs. 1200

Techofworld.In

57) 6615~ ARG Rs.1060 60 35 Q6R 606 AR T4 12| 99
ANGIg Rs.950 66 &5 F6m 609 VG §4 GI'0IQ 20% 2@ 4@
AIRGIG 6960 SF168 @asm 20% AR 629 FIg 6208

A) Rs. 1260
B) Rs. 1860
C) Rs. 1500
D) Rs. 1200

58) In a class 50% of the students like hockey, 80% like
cricket and 40% like both. What % of the students like
none of these games?

A) 10%
B) 30%
C) 20%
D) 40%

58) 6413 6g4116Q 50% Fuigh 98g adR @82, 80% G6a5q
a9R 298 6 40% AR0] I G0E [6968 % Qg ¥gEeg
6716d 69 AR Aa8 AIE?

A) 10%
B) 30%
C) 20%
D) 40%

59) If (V768 — 21/48 —V75)x = V27, thenx =
A) 3
B) 1

C) 4
D) 2

59) 0@ (V768 — 2V38 — V75)x = V27 gieqen * =

Techofworld.In
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60) Equation of a circle with centre (0,0) and radius r is
equal to

meve=e | @chofworld.In

B) X2+Y?=0
C) XerY?=r2
D) X2 -Y?=r2

60) 699 Q@e 9@ @ ANRaE (0,0) &6s G 28 U r
QL0 QAR 26T

A) X2+Y2=r
B) X2+Y2=0
C) X2+Y2=2
D) X2 -y2=p2
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Section 7 - Paperll-Social Science

61) Which of the following tribes were known as Huns?

ames 1 €CHOfworld.In

63) G6lIB FIIQ 699 AIFR°F 699 JIew T AT 6TIRARMI?

A) aY Qea°s
B) Nomad Mongol
C) Ghond B) aiege apesd
D) Sugahi C) grrem aI1ee°4
D) g aige°4

61) G651 FRIQ 6RR FAFIBAIEE & AER RS 2ER?

64) Which of the following is used to study the movement
A) saIgl of plates in the Earth's crust?
e A) Asthenosphere Plate
C) saie B) Plate Tectonics
D) gai@ C) Plate Ophiolites
D) Mantle Plate

62) The process of transformation of water vapour into
water is called

64) G699 FRIQ 6968 QAIA AOR 2°96] 69FYERR GRRA

A) Transpiration EREIGR 1eR0 347
Dl eandeneaton A) 216960179Q 699
C) Saturation N
D) Evaporation B) eqg soeqdg
C) 6qg 6T6RRY
o = o D) enisam 699
62) 69@ 9RU6R SRINARIE SRIG6R ARES £, 019 @8 QI
i3
65) Which among the following countries is considered to
A) 21268188 have a Rigid Constitution?
B) aciaad _ _
A) United States of America
C) aggmed B) India
D) qiaiaasl

C) United Kingdom
D) South Africa
63) Which of the following dynasties was founded by Sher ‘
Shah? B5) G6lIR FIRIQ FRW 6LIR Y@ RE0IQ ARIIR 8F?
AlSR e A) g8aIg ZIEAGRI
B) Rajput dynasty
C) Mughal dynasty

B) aige
e a Techofworld.In

C) geaimy
D) o9 21ga!
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66) Which of the following layers of the Earth's
atmosphere is surrounded by a strong magnetic field?

A) Troposphere
B) Magnetosphere
C) Mesosphere
D) Stratosphere

66) Reqlia AUR RISTR AYALRR 656 29 FAHIRT gARNR
680 FI0l 0R69867

A) 6016QIF9R
B

c

)
) QYica6S1RALR
) 062N
D) giesi@aa

67) Who among the following appoints the Administrator
for Union Territory in India?

A) Prime minister
B) Chief Minister
C) Governor

)

D) President

67) @60 AIRE FIQ T NS 6RLdIde AL JaIAR
YL @98?

A) QuIeAR1
B) qstinan
C) aigvaim
D) quigad

68) If the time of a place 'A' at the prime meridian is 6:00

PM, what will be the time of a place 'B' 30° west of the
prime meridian?

A) 5:00 PM
B) 8:00 PM
C) 4:00 PM
D) 7:00 PM

Techofworld.In

68) 9T QP FlISY 608 QU 'PRIFA AL ASYI 6 S 994,

£66Q 30° QEFER QI 92! AT6R ]I AGY ¥R QIR U6 AN
6Q6G 699 7

A) 20Q12 5 G
B) ai@ 8 @l
C) zaqug 4 !
D) @@ 7 ql

69) In which year, did the first meeting of the Constituent
Assembly of India take place?

A) 1946
B) 1944
C) 1947
D) 1945

69) 608 QF6a @IAGR ARNGR daR goa 650 QTR
62IRIRI?

A) 1946
B) 1944
C) 1947
D) 1945

70) According to the National Forest Policy 1952, what

percentage of total geographical land of India should be
covered by forests?

»*% Techofworld.In

C) 25%
D) 23%

70) 1952 qdeia @910 Qe dRd AQUIY], RINGR 6966
S61°8 6LleaIRe @f 2Rl FIRl ARITE 6291 AR

A) 35%
B) 33%
C) 25%
D) 23%
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71) Which of the following reports was a result of a
challenge to prepare a Draft Constitution by the Congress

given by the Secretary of State for India, Lord
Birkenhead?

A) Prasad Report
B) Gandhi Report

onarsot T @chofworld.In

71) 3618 FlIQ 67R G6TIE ARG IR AIFY AT N F6AREIR

FI0l Q694 9@ AR S 996 UR QAUARISI AL
aQsle?

A) gae deald
B) qie1 Geaie
C) Gaa Geale
D) 6aeq Geald

72) What is the total length of a meridian?

A) 0°
B) 360°
C) 180°
D) 90°

72) RIS 6R%IQ AREFIT 6344 660 ?

A) 0 &g
B) 360 &gl
C) 180 &gt
D) 90 &g

73) Taxol is an antimitotic agent used to treat various

forms of cancer. From the bark of which of the following
trees is this derived?

A) Pine tree

B) Eucalyptus tree
C) Yew tree

D) Alder tree

WtsApp/Call- 8596976190

73) Q0R gRIN0 K96 6QIT AULIA KERIER SUIETIR , 99 IR
219Q3 1 9304 266, 121 694 T8Q SIRQ TG LMl ?

A) QIR o8
B) ¢10@ o8
C) ag aa

D) 21qa o8

74) Which of the following movements was started as the
result of British decision to partition Bengal?

A) Swadeshi Movement
B) Kheda Movement
C) Dandi March

D) Non-cooperation Movement

74) oaf qRIeR Gr6s §Faniee fada AGEN AUea F67IS
FRIQ 699 RIS RS 6TARYRI?

A) 96Q41 2IBRIRE
B) caigl 2i601ne

C) @id aeae

D) 21ag69ia 2I6RIFS

75) Who among the following conduct the elections for
municipalities in India?

A) Legislative Assembly
B) Chief Minister

C) State Election Commission
D) Central Election Commission

75) FeRAIST FIQ @4 29eAIFRIQ AR JRCIR Kad?

Techofworld.Ir

C) aigy GQlIee afiaq
D) cag GQlon afie

A) Guie Qe
B) qeaat
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Section 8 - Paperll-Science

76) The leaves of which of the following plants close or

fold when someone touches them?

A) Mimosa Pudica plant
B) Switchgrass plant
C) Water Lily plant
D) Spinach plant

76) AArQ 699 AE9A U9gE] 8% 6A6M 699G 90 | QIE
621QAIN?

A) CIR6A1IAI gER!
B) Sogia

C) gioa ad

D) @ore

77) Out of the following options, select the example of
exothermic reaction.

A) Dissolving ammonium chloride solid in water
B) Burning of coal

C) Evaporating liquid water
D) Melting ice

77) 36 IRBYER RI, INEFIAAR gETAIR U9 ARILRE 9BR
@0

A) 3060 Q08 2I6AIFCE 69RIR% 60IRIRG!
B) ealaml a@Ql

C) o clIge 624

D) e eafql

78) Which of the following organisms have well-organised
nucleus with a nuclear membrane?

A) Sulfolobus

B) Escherichia
C) Diatoms

D) Streptomyces

78) GOMRIQ 600 P9 QIgIa SR AFe 1@ 9Q-A60e
QuFIQ 2?

A) ansaisaied

TeChOfWOHd : I Nec @1NgY

)

B) weaddal
)

D) sgsqeasaa

79) Which among the following options is an example of a
Carnivorous plant that is adapted for living in soils that
does not provide it enough nitrogen?

A) Mimosa Pudica plant

B) Dionaea Muscipula plant
C) Agaricus plant

D) Victoria Amazonica plant

79) FQFRIQ 6908 1@ UG 89R IR AILRS AIT| UGS
eBIALIe gOIe @QeQl AIT6q QEQIEa 29eR 62IRUIRE?

A) Feqial gEe ad@

B) 867 qlgm a8e

C) adea ave

D) @@/l 2IIeIfa ate

80) The surface temperature of the sun which has
maximum energy emission at 500 nm is 6000 K. The

temperature of star which has maximum energy emission
at 400 nm will be

A) 8500 K

e 1echofworld.In
)
)

C) 7500 K
D) 4500 K
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80) 500 nMea AR 98 TR0E 29I YLy ] SIAAIG 6000 83) A drunkard walking in a narrow lane takes 8 steps

< = == = forward and 6 steps backward, followed by 8 steps
K1 400 nmé QeR@ & 908 4@ S10RIa SanIa s2aw forward and 6 steps backward, and so on. Each step is 1
m and requires 1 s. How long the drunkard takes to fall in
A) 8500 K a pit 18 m away from the start?
B) 6500 K TeChOfW0r|d|n A) 126 s
C) 7500 K B) 62s
D) 4500 K C)28s
D) 78s

81) A rubber cord catapult has cross-sectional area 25
mm? and initial length of rubber cord is 10 cm. It is

83) @6d agall 69T QORI QUYIER 8 AR 2oy 629 AALER 6
stretched to 5 cm and then released to project a missile of QIe 98g 6°gRl, 94 8 AIe 2IGg 6 6 AIQ 98] 6RRSMI 6
mass 5 g. Taking Yrubber = 5 x 10 N/m?, velocity of - A ~
projected missile is 62200 GIRgAI | 95 012 6268 1 M 6 15 A7A AIGERI| 2160Q
18 m 996 &Rl ¥R GlIFER U8R IR OI'g 6R6S AR AITQ?
A) 20 ms™!
B) 200 ms™! A) 126 s
C) 250 ms! B) 62 s
D) 100 ms™!
C)28s
D)78s

81) 4@ QIgHe 94 6995 688 25 mm? ¥a° gIaRe Aea
63109 g 62@& 10 cm | ¥2Ig 5 cm Adie G ARl ¥S° 5

g QG 9@ 689419q 96189 QUM | 96836 6]0GIRTR 66!

84) If two bodies stick together after collision and move as
6262 ? Yrubber = 5 x 10® N/m?Gaide

a single body, the collision is said to be

A) elastic
A) 20 ms™! B) perfectly elastic
B) 200 ms C) inelastic
C) 250 ms™ D) perfectly inelastic
D) 100 ms™ o o
84) 19 Qo9 ¢ A 622 U6 MIGKIEIS 19° Y9 94 QIER
Q0 QR 606 YT 2RIQ @6 FRIR
82) Which of the following metals is a least reactive metal?
A) Iron A) eaa1a
B) Lead B) agdl eae1a
C) Tin

C) &g qasie
D) Gold e
D) agd 26 aaaia
82) GgAuQ 624 JIg AQOIQ 97 YETASIR?

85) Saccharomyces cerevisiae is a scientific name of

A which of the following options?
el
B) aral A) Cottage Cheese
C) Ga B) Bakt.ar-'s_ Yeast
C) Penicillium Mold
D) gal

D) Baking Soda
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85) AIRIEFIRda 6AFEd G FragEe fUQ QPR 6TRIGR

" Techofworld.In

A) Qe G
B) cond aa

C) cafdfion eaine
D) se@ar 6Q@!

86) Which of the following organelles of a plant cell helps
in oxidative phosphorylation?

A) Golgi bodies
B) Lysosomes
C) Mitochondria
D) Nucleus

86) 639G QEQ RN &Y ATYER AUQ ARG AFERTR
TACTIAENARER AILIY R6Q?

A) ORG @&

B) auqsaiesia

)

)

C) cigsaiadal
D) gyqaia

87) A force acts on a 30 g particle in such a way that the
position of the particle as a function of time is given, x = 3t
- 412 + t3, where x is in meters and t is in second. The work
done during the first four seconds is

A) 450 mJ
B) 490 mJ
C) 576 mJ
D) 530 mJ

87) 30 gifl BERA Y@ g AT6R IR AF YA NCA YEAE!
AR 6€, 4T 92 @3 AAAGeA x = 3t - 4t + t 6Q QgBa,
600168 xATREE I9° t 6A6REER QRRI YN 4 6I6REER
ARG 62RYRI Q1Y 6998

A) 450 mJ
B) 200 mJ

C) 576 mJ
D) 530 mJ

88) Read the following statements and choose the
CORRECT option.

(i) Sporulation is a form of asexual reproduction which is
common in algae and fungi.

(i) Spores are special reproductive structures that may be
motile or non-motile.

A) (i) is TRUE and (ji) is FALSE
B) (i) is FALSE and (ii) is TRUE
C) (i) is FALSE and (ii) is FALSE
D) (i) is TRUE and (ii) is TRUE

88) o7 @BgeR 9eg 8 A0@ ST AR K9G |
(i) 6QIPEMLE 62RF Ao TLIQ IR 9@ QU QLI AINES 6
RORYER ClEQ LRI |

(i) 620gE 6208 Q608 gere AUOR QIR 9RAAIe QI
PRERIR 6LIRUINE |

A) (i) see@ 09 3 (i) 6203 g
B) (i) 620 @ G (i) 6228 09
C) (i) 6208 g G (i) 6208 @R
D) (i) 62a@ O 6 (i) 6228 09

89) Read the following statements and choose the
CORRECT option.

(i) Regions of chromatin which are loosely packed during
cell division are known as heterochromatin.

(i) Heterochromatin contains active genes.

A) (i) is TRUE and (ji) is FALSE
B) (i) is FALSE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is TRUE and (ii) is TRUE

Techofworld.In
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89) 0] A89ee Jeg B AR IRT LR @G |
() 6919 QRIRE AR YRR RS Q1T 62N 6FIAITE
6RQ9Eq 62656RCFICITE QLIAN |

(i) 62606RAECFIFNTAER AT B QTN |

Techofworld.In
A) (i) 6298 0 G (ii) 6298 g
B) (i) 6208 @@ G (i) 6298 N
C) (i) 6228 g 6 (i) 6208 02
D) (i) 62@& Ox 8 (ii) 628 0@

90) In old age, arteries carrying blood in the human body
become narrow resulting in an increase in the blood
pressure. This follows from

A) Archimede's principle
B) Bernoulli's law

C) Stoke's law

D) Pascal's law

90) QNISRKY FEEa dIER VIR UAGHER AFOR
6RIRUIN FREQ ABOID Q& A1 92! VI2Iq AQAQE REQ

A) 2iRereQs dRIe TeCh OfWO rl d . I n

B) qeding Gae
C) calqe fo0
D) qlaine Goe
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